
Hw Ex- 9.A) R19.3 

( -(15+5) +61 
=18- 3+ G 
=4-31 

Ax2) -4 2J+32 

E6+9 

Ex- 9.C) 

SN 1392 
Sum a the diqubF +3+3+2 =19 
1s divisible by 
So 1932 i daisibleeby 

)532u= 
Sum a the digit 5+3+Q+++= QL 
Qis not_diauiikle bu132Y3s not dwiibe by1 

ip 4963 = 
Sum o the digit= +9+ 6+3= 23 

4 is_diisible by 9 
So 4g6 is divisble by 9. 

I200 314= 
Sum o he diqih = 2t 3+1+4 = i0 
10 is ot diuisble by 9_ 
So, 200314 is not divsible_by 9. 
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5080O= 
The unit's digit is 506)=0 
So, Bo8O is divisikle by 5 

G6666 = 
The uiti digit = 666E=6 
So, 66666is not divisible by 

55 
The unihdiqit is =_ 756)=5 
So155 idwisble _by 5 

iv9201 
The unis digit is = 92OE)=7 
So 9201 ot dasaitk hy 6 


